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1. (LP &6V ClameiTem & Uletr6oTL

LwesT(hg§SILI  LedTeu(Thld &ML &6rileoT


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_syUIYBmqZQYA

6UED) 5 &6 &H(LD &HSHEDI6MTE SI165015. (i)
fl)=6 (i) flz)= —4e+7 (i)

f(z) = z* + 2

o Watch Video Solution

2. SaNem)b SMILUSEDHSHES x = 1-6v
QLULSS LoMMLD UGV
6UED &6 & (LD (85160 L_& & L1161 LI M) 66T)

SHI65015. X =1-6V FMIL S ETH&H(G
61 60)560)LD5 5),60160)LD 2 616Gy

6160TLI&H6DV60TWLILD &M6vo1&. (i) f(z) = | — 1


https://dl.doubtnut.com/l/_syUIYBmqZQYA
https://dl.doubtnut.com/l/_OYWOneOXoQvW

(ii) f(z) = /1 —z? (iii)

T x> 1

o Watch Video Solution

3. ClaM(B&SeLILIL L L|6Terll &61fl6v
SLDSM60) |LD ML &SI
6U6D) H6DI LD LI TEBTG)IT 6T60TLI6DV & 5)

gioneflsseyn.i) f(z) = z|z[,z =0 (i)
flz)=z* -1,z =1 (iii)
flz) =lz|+ |z -1,z = 0,1 (iv)

f(x) = sin|xz|,z =0

[ 1


https://dl.doubtnut.com/l/_OYWOneOXoQvW
https://dl.doubtnut.com/l/_2SoKx2ws6POQ

I D Watch Video Solution

4. SLD&H M) |LD EMILSEHS (S

GMILU UL (hefTer L|eTerTl &eril 6V

EUEMHEMLD QEVEDIV 6T60TLIEM S MH M6 &. (i)
—x + 2 z < 2
I
20 — 4 r > 2’

fie) = {
e {F, 10

° Watch Video Solution

= 2 (i1)



https://dl.doubtnut.com/l/_2SoKx2ws6POQ
https://dl.doubtnut.com/l/_CidMaj7KIakq

5. UL (hemerm f-60T  eUuemILIL &6V
eIhHolBHS  x  -60T  WHLULISHEDSHS
(6T6001H(6TH&H(G) f 6EUemSHEMWD  Q6evemey
6T60TL1 560)60TLLLD S GHMSHME0T

SIT6T0TMRI HEDI6IMTUILD n.()|S.

¥y
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o Watch Video Solution



https://dl.doubtnut.com/l/_9a7IMmwiNcUX

6. f(x) = |z 4+ 100| + 2* eteslev ,f(-100)
SlenL&sLiblLmon et CaMEH 5G|

LIMJ& 561 LD.

o Watch Video Solution

7. ED5MEE)|D FMILIS6M6ST EUEMSHEMLDS)
5H60TEDIDEDIWIL] LIL MI&6T euenfhg| R-6u

LfCEN&&H&eNLD. (i) [sin x| (i) |cos z|.

o Watch Video Solution



https://dl.doubtnut.com/l/_DkSjoLrpgOKh
https://dl.doubtnut.com/l/_NpowL4mke4lU
https://dl.doubtnut.com/l/_lpAbkUcT6e2c

8. LedTeu(HLD &MIJLI&HEm6NM 6l ML ITLI60)L W
gy LD SEm6ITL Cl1LIMM|5 8

euensWI(B&. f(z) = ¢ — 3sinx

o Watch Video Solution

9. LNedTeu(HLD SFMIJLI&HEDI6N 6l&GMLITLI60)L W
gy LD SEm6ITL Cl1LIMM|5 8

euenSHWI(h&. y = sinx + cos

o Watch Video Solution



https://dl.doubtnut.com/l/_lpAbkUcT6e2c
https://dl.doubtnut.com/l/_0ls9736WccVR
https://dl.doubtnut.com/l/_zmYkkHt6LHKJ

10. Lil65T6U(THLD SMITL&H6D6M 61&MLITL{60)L W
Gy LOMM) S6m6ITL elLIMM) |5 5|

eUemSHWI(Hh&. f(x) = zsinz

o Watch Video Solution

1. LNesToU(HLD FMTLISED6T 618 MLITLI6TIL L
Gy LOMM) S6m6ITL elLIMM |5 5|

U6t SHWI(h&. y = cosx — 2tane

o Watch Video Solution



https://dl.doubtnut.com/l/_zmYkkHt6LHKJ
https://dl.doubtnut.com/l/_80K2sumq2Bt0

12. Lil6dT6U(HLD SMITLIS&HEM6NT 6l &ML ITLI6TIL L
Gy LOMM) S6m6ITL elLIMM) |5 5|

euemsBU(H 5. g(t) = t° cost

o Watch Video Solution

13. Lil6tT6U(HLD SMITL&HEDI6M 61&MLITL{60)L W
Gy LOMM) S6m6ITL elLIMM |5 5|

euemSHWI(Hh&. g(t) = 4sect + tant

o Watch Video Solution



https://dl.doubtnut.com/l/_zHVtp8a8Lcdg
https://dl.doubtnut.com/l/_fN0H8fhXDSYR
https://dl.doubtnut.com/l/_GcDYZILe3LJl

14. LTl6dT6U(THLD &MITLIG&HEM6T 61 ML JLI6tIL L
Gy LOMM) S6m6ITL elLIMM) |5 5|

euenSHWI(h&. y = e sinx

o Watch Video Solution

15. Lil60T6U(HLD SMITL&HEDI6M 61&MLITL{60)L W

Gy LOMM) S6m6ITL elLIMM |5 5|
t
Ut HWI(Hh&. y = a;lx

o Watch Video Solution



https://dl.doubtnut.com/l/_GcDYZILe3LJl
https://dl.doubtnut.com/l/_8oJ9VJBsRHC5
https://dl.doubtnut.com/l/_eXvgkU63NLRQ

16. Lil60T6U(HLD SMITLI&HEDI6M 61&MLITL{60)L W

Gy LOMM) S6m6ITL elLIMM) |5 5|
sinx
auensHW(H&. y =
by 1+ cosz

o Watch Video Solution

17. NedToU(HLD SFMITLSH6m6T 61 MLITL{60)L W

Gy LOMM) S6m6ITL elLIMM |5 5|

T

U6 SHWI(RS. y = —
(B Y sinx 4+ cosx

o Watch Video Solution



https://dl.doubtnut.com/l/_eXvgkU63NLRQ
https://dl.doubtnut.com/l/_l9kJ9Pcim3Oe

18. Lil60T6U(THLD SMITL&HEDI6M 61&MLITL{60)L W

Gy LOMM) S6m6ITL elLIMM) |5 5|
tanz — 1
auensHW(H&. y =
(B J SECT

o Watch Video Solution

19. Lil65T6U(HLD SMITL&HEDI6M 61&MLITL{60)L W

Gy LD &6m6ITL elLIMM) |5 5|
euenHWI(Hh&. y = Smj
T

o Watch Video Solution



https://dl.doubtnut.com/l/_zHnQikbugELb
https://dl.doubtnut.com/l/_oHLHOPYdWGuj
https://dl.doubtnut.com/l/_z2SgEkqLGcGj

20. LN65T6U(THLD SMITL&H6D6T 61&MLITL{60) LW
Gy LOMM)) &6m6ITL elLIMM) |5 5|

U6 SHWI(Hh&. y = tanf(sinb + cos 6)

o Watch Video Solution

21. Lil6tT6U (THLD SMIILIS&HED6T 6l &ML IJLI6tIL L
Gy LD &6m6ITL elLIMM) |5 5|

euen&HWI(H&. y = cos ecx. cot x

o Watch Video Solution



https://dl.doubtnut.com/l/_z2SgEkqLGcGj
https://dl.doubtnut.com/l/_g9LClcgGtqZr
https://dl.doubtnut.com/l/_l1Egl2AROPC7

22. L1168T6U(THLD &MITLISH6D6M 6l &ML [JLI60IL L
Gy LOMM) S6m6ITL elLIMM) |5 5|

euen&HWI(H&. y = x sinx cos

o Watch Video Solution

23. Lil6tT6U([HLD FMITLI&H6m6IT 61 ML ITL{60)L W
Gy LOMM) S6m6ITL elLIMM |5 5|

euensWI(h&.y = e “loge

o Watch Video Solution



https://dl.doubtnut.com/l/_l1Egl2AROPC7
https://dl.doubtnut.com/l/_8uAfsn8fNRED

24. LN65T6U(HLD &MITLISH6D6M 6l &ML [TLI60IL L
Gy LOMM) S6m6ITL elLIMM) |5 5|

auenaWl(Bs.y = (z° + 5). In(1 + z)e

o Watch Video Solution

25. Lil6tT6U([HLD FMITLI&H6M6IT 618 ML ITL{60) LW
Gy LOMM) S6m6ITL elLIMM |5 5|

euenSHWI(h&. y = sinz°

o Watch Video Solution



https://dl.doubtnut.com/l/_MPpheZulV7Bb
https://dl.doubtnut.com/l/_PJPYHm7F7GxI
https://dl.doubtnut.com/l/_PLGsZQFN3A7o

26. Lil66T6U(THLD &FMITLI&H6M6IT 618 ML ITL{60)L W
Gy LOMM) S6m6ITL elLIMM) |5 5|

euemSHWI(Hh&. y = logy x

o Watch Video Solution

27. f(z) = 2x® — bz + 3 etevnlev f'(x) 6165TM)

G 68T 6U6D JLILLD 6U6D[]5.

° Watch Video Solution



https://dl.doubtnut.com/l/_PLGsZQFN3A7o
https://dl.doubtnut.com/l/_tbpQfrzeeG4s

28. SLD&5M600)|LD QLG
6UED) &6 & (LD &HGH6DI6M SI165015.
5
Y = (:cz + 4z + 6)
o Watch Video Solution

29, SLD&5M600)|LD QLG
6UED) 56 & (LD &H&H6DI6MH SI165015.
Yy = tan 3z

o Watch Video Solution



https://dl.doubtnut.com/l/_nMUEf3S70vJ5
https://dl.doubtnut.com/l/_1788T2dArqE4
https://dl.doubtnut.com/l/_Ca9VzzGlixDE

30. 5LD&5M600)|LD QLG
6UED) &6 & (LD &HGH6DI6M SI165015.
y = cos(tanx)

o Watch Video Solution
31. 5LD&5M600)|LD QLG
6UED) 56 & (LD &H&H6DI6MH SI165015.
y=+/1+z°

o Watch Video Solution



https://dl.doubtnut.com/l/_Ca9VzzGlixDE
https://dl.doubtnut.com/l/_cmCpupYAtL3R
https://dl.doubtnut.com/l/_OJYoCSyOcIQb

32. SLD&5M600)|LD EMLISEHHS)

EUED)B:E6) B(LD EHGHEM6NTE BHITET0TS. y = eV?

° Watch Video Solution

33, SLD&5M600)|LD FIL&EThH (S
6UEDY &6l 8 (LD H&HEDI6MTE &163015.

y = sin(e”)

° Watch Video Solution



https://dl.doubtnut.com/l/_OJYoCSyOcIQb
https://dl.doubtnut.com/l/_QPG0JEoGLzfR

34, 5LD&5M600)|LD QLG
6UED) &6 & (LD &HGH6DI6M SI165015.
F(z) = (z° + 43:)7

o Watch Video Solution
35. SLD&5M600)|LD QLG
6UED) 56 & (LD &H&H6DI6MH SI165015.

o~ (- 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_1Q3vZxoyqsH6
https://dl.doubtnut.com/l/_TGfSaTvw4LiJ
https://dl.doubtnut.com/l/_et9T9g6Wn0hl

36. SLD&5M600)|LD EMILSEHS (S
6UED B S615(LD&HSH6D)6MTE SHI63015.
f(t) = YT T tant

o Watch Video Solution
37. SLD&5M600)|LD EMILSEHS (S
6UED B S 615(LD&HSH60)6ME SHI63015.

Yy = COoS (a3 + wg)

o Watch Video Solution



https://dl.doubtnut.com/l/_et9T9g6Wn0hl
https://dl.doubtnut.com/l/_ypiRus52RAS5
https://dl.doubtnut.com/l/_q2q9YSN1fdjA

38. SLD&5M600)|LD EMILSEHS (S

EUEDBHH615H(LDHSHEDIENE SHT6TOTSH. Yy = e "

o Watch Video Solution

39. SLD&5M600)|LD ML S (ETh&(S
6UED) 56 & (LD &H&H6DI6M S165015.

y = 4secdx

o Watch Video Solution



https://dl.doubtnut.com/l/_q2q9YSN1fdjA
https://dl.doubtnut.com/l/_jvbxnw9lQaZ6

40. 5LD&5M600)|LD QLG
6UED) &6 & (LD &HGH6DI6M SI165015.
y=(2z —5) (822 —5) °

o Watch Video Solution
41. SLD&5M600)|LD QLG
6UED) 56 & (LD &H&H6DI6MH SI165015.

y= (2> +1)vz*> +2

o Watch Video Solution



https://dl.doubtnut.com/l/_fAHmNl0q2eoC
https://dl.doubtnut.com/l/_tpS05tg1iWge
https://dl.doubtnut.com/l/_vIQFYzYgiCYY

42, 5LD&5M600)|LD QLG

2

U B0 B (LD HGSHEDIENS SHT6T0TS. y = e

° Watch Video Solution

43, SLD&5M600)|LD L& EThH (S
6UEDY &0l 8 (LD H&HEDI6MTE S163015.

\ 3+ 1
3 —1

s(t) =

o Watch Video Solution



https://dl.doubtnut.com/l/_vIQFYzYgiCYY
https://dl.doubtnut.com/l/_iwYGooY6I87C

44, 5LD&5M600)|LD QLG
6UED) B0 & (LD &H&H6DI6M SI165015.
Wi
flz) =
7T— 3z
° Watch Video Solution
45, SLD&&M600)|LD G & (6Th&(S)
6UEDY &6l 5 (LD H&HEDI6MTE B163015.

y = tan(cos x)

° Watch Video Solution



https://dl.doubtnut.com/l/_uZ86YldkH2H1
https://dl.doubtnut.com/l/_xltIXnUCHn0J
https://dl.doubtnut.com/l/_Rccw6t0icY82

46. SLD&&M600)|LD FMILSEHS (S

6UEDI &6l 5 (LD H&HEDI6ME B163015.

sin?

COS T

° Watch Video Solution

47. SLp&5M600)|LD G & (6Th&(S)

-1
6UEDIBE01 5 (LD HEHEDI6NE SIM6301&H. Yy = 5=

o Watch Video Solution



https://dl.doubtnut.com/l/_Rccw6t0icY82
https://dl.doubtnut.com/l/_2a8mSZKJ3onN

48. 5LD&5M600)|LD QLG
6UED) B0 & (LD &H&H6DI6M SI165015.
y=+4/1+2tanx

o Watch Video Solution
49 5LD&8M600)|LD QLG
6UED) B0 & (LD &H&H6DI6MH SI165015.
y = sin® ¢ + cos®

o Watch Video Solution



https://dl.doubtnut.com/l/_Vz0y3zqE6ObA
https://dl.doubtnut.com/l/_TO7nKR2D9jEx
https://dl.doubtnut.com/l/_0EoIcfE2mzgg

50. 5LD&5M600)|LD QLG
6UED) B0 & (LD &H&H6DI6M SI165015.
y = sin®(cos k)

o Watch Video Solution
51. 5LD&5M600)|LD QLG
6UED) B0 & (LD &H&H6DI6MH SI165015.

Yy = (1 + cos? a:)6

o Watch Video Solution



https://dl.doubtnut.com/l/_0EoIcfE2mzgg
https://dl.doubtnut.com/l/_sQun8q43UoeR
https://dl.doubtnut.com/l/_K1s0M9uIsqRh

52. SLD&5M600)|LD QLG
6UED) B0 & (LD &H&H6DI6M SI165015.
e3:c
YT Iter
o Watch Video Solution
53. SLD&5M600)|LD ML S (EhE(SG
6UED) 56 & (LD &H&H6D)6M SI165015.

y=/z+ e

o Watch Video Solution



https://dl.doubtnut.com/l/_K1s0M9uIsqRh
https://dl.doubtnut.com/l/_5sur9Fd4IqiW

54, 5LD&5M600)|LD &ML EHSH(S)

U S0 B (LD SHSHEDIENS HMT6T0T8S. y = e* 7

° Watch Video Solution

55. SLD&5M600)|LD EMILSEHS (S

6UEDY &0l 8 (LD H&HEDI6MTE S163015.

v= e o Ve

o Watch Video Solution



https://dl.doubtnut.com/l/_1J919tFUeIVu
https://dl.doubtnut.com/l/_mb2yLnUpzhqV

56. SLD&5M600)|LD QLG
6UED) B0 & (LD &H&H6DI6M SI165015.

Yy = sin(tan(\/m»

o Watch Video Solution

57. SLD&5M600)|LD &ML EHSH(S)

6UED) B0 & (LD &H&H6DI6MH SI165015.
11— 2
= S1n
Y 1+ 22

o Watch Video Solution



https://dl.doubtnut.com/l/_ISgpX5Zc5Ydy
https://dl.doubtnut.com/l/_pSA0ui9LUqlc
https://dl.doubtnut.com/l/_8rP7KwxOe7Pw

58. &L&SMETTLIOIMeDM U SHWI(H &.
y — wCOSJ;‘

o Watch Video Solution
59. &LD&HSMeToTLIIMemM  6Uem&HUN(H &.

y = 8% + (logz)”

° Watch Video Solution



https://dl.doubtnut.com/l/_8rP7KwxOe7Pw
https://dl.doubtnut.com/l/_YcVEOz8IYpvQ

60. &LD&HGEMTTLIOIMEDM U SHWI(H 5.
JTY = e(Z—Y)

o Watch Video Solution
6. SsaMesoTUMEM  lemnHUI(H 5.

x? = y”

o Watch Video Solution



https://dl.doubtnut.com/l/_eCVXifmw4Cdu
https://dl.doubtnut.com/l/_Rir9ceWbRArd

62. SL&HSHMESTILIAIMENM  aUenSHWI(H 5.
(cos z)'°8”

o Watch Video Solution

63. &SL&HENSTILAIMENM  eUemnSHU(H .

2 2
Z Yy
2t e =1

o Watch Video Solution



https://dl.doubtnut.com/l/_L6dboAmcJxZa
https://dl.doubtnut.com/l/_odH8lglrDg6Z

64. &LD&HEHMOTLIOIMEDM  aUeSHWI(H 5.
/2 2 _ ~1(Y
" + y~ = tan (a:)

o Watch Video Solution

65. &SLD&HENTTILAIMENM  eUemnHU(H .

tan(x + y) + tan(z — y) = x

o Watch Video Solution



https://dl.doubtnut.com/l/_UoM3aoOhtoMK
https://dl.doubtnut.com/l/_Hj3xwmv8E6Oa

66. cos(zy) = @ 6160116V,

d 1+ ysin(z
oo ( y, (zy)) 61601 SHSM_(h S .
dx xsinzy

o Watch Video Solution

67. &SL&HENSTILAIMEMM  eUemSHU(H .
1 \/1 — CcoS &
tan .
1+ cosz

o Watch Video Solution



https://dl.doubtnut.com/l/_VQ7O3IAMhKnk
https://dl.doubtnut.com/l/_3gILWfHG4Abo

68. SLD&HBHMESTILIAIMENM  aUenSHWI(H 5.

tan_l( bz )
1 — 9x2

o Watch Video Solution

69. &LD&HGENTTILAIMENM  eUemHU(H 5.

(o (55)

o Watch Video Solution



https://dl.doubtnut.com/l/_l7ERIpAQuSn8
https://dl.doubtnut.com/l/_5QL89RITpoFR

70. S&sNesTTUMMENM  Uem&HUN(HS.

r =acos’t,y = asin®t

o Watch Video Solution

7. SLp&snesoiUaImenm  euensWl(hs.

r = a(cost + tsint),y = a(sint — tcost)

o Watch Video Solution



https://dl.doubtnut.com/l/_AClFE8UHNG12
https://dl.doubtnut.com/l/_og7qbfpqBs7p

72. SLp&sMesILIAINemM  euem&HUN(H &.
1— 2 2t
Tr = y pr
1+ 11
o Watch Video Solution
73. S&aNesTILIMe®M  eUenSHW(H &.

1(1—$2)
COS
1+ x2

° Watch Video Solution



https://dl.doubtnut.com/l/_e5Akp9TnUY4E
https://dl.doubtnut.com/l/_xazQfYbeNHdy

74. S&NesTTUMMEM  Uem&HUN(H&.

sin ! (3x — 4:133)

o Watch Video Solution

75. SL&HENesTILIIMemM  eUenSHWI(H &.

_,f cosx +sinz
tan - .
cosT — sinx

° Watch Video Solution



https://dl.doubtnut.com/l/_4ANB7I5UzCa1
https://dl.doubtnut.com/l/_7umbM7oy5T9u

76. r2-89 6lLIMM |5 5| sin z2-661

6UED B0 H(LDEDIEUS SIT6TTTS.

° Watch Video Solution

2
77. tan” ' z-83 LIS ] sin_l( ® )
1+ x2

60T 6U6DIBHSH615(LD6DI6UE HT6TOTS.

° Watch Video Solution



https://dl.doubtnut.com/l/_2rts8Iru2xG4
https://dl.doubtnut.com/l/_5RHobMb5Es7P

A/ 2 _
78.u—tan1< 1+z 1) 1

,V="tan " x
x

. du .
6160116V T SIT660TS.
v

o Watch Video Solution

79 tan_1< e ) 6l j
. s LUMTMI5|

1+ sinx

_q sinx . . :
tan  Feosz ) 6UED S0 H(LD6DI6US

&HIT600T1 .

o Watch Video Solution



https://dl.doubtnut.com/l/_7eTgrcWojmZm
https://dl.doubtnut.com/l/_kmnFMzuMWoLX

80.y = sin ' z e160l6v , y " HMETOTS.

o Watch Video Solution

8. y=e" 7 6160116V, (1 - wz)y "

+ (22 — 1)y’ = 0 eT601&HBHML(H 5.

o Watch Video Solution

.1
Sin xr
82. Yy = 6T6-6ﬂ6U,

V1 — x2

(1 — wz)yz — 3xy; — y = 0 e1601&&ML_(H &



https://dl.doubtnut.com/l/_adCxVZ4oAQAt
https://dl.doubtnut.com/l/_B5kJY9mhanu5
https://dl.doubtnut.com/l/_ZStFj80wIBeU

° Watch Video Solution

83. z = a(0 + sinf), y = a(1 — cosH)

1
6160116v,0 = % 6160)|LDGLINMG| y' ' = — el60T
a

mepUlss.

° Watch Video Solution

84. siny = « sin(a + y)e616vil6V,

dy sin’(a + y)
dr sina

61601 THiCHUISHS. QIS

a # nm.



https://dl.doubtnut.com/l/_ZStFj80wIBeU
https://dl.doubtnut.com/l/_tHWfQlqrpygR
https://dl.doubtnut.com/l/_ljO6bfsxpSXO

I o Watch Video Solution

85. Yy = (cos_lzc)2 6160116V,
2

(1—w2)%—x3—z—2:0 61601
T

mlemLleEs.  Gey|ld  x=0-661 GUNMG| s

LG LI6DILIE &HIT65015.

o Watch Video Solution

2
86. % (?Sinxo)

ﬂ- O
A. ——cos

180


https://dl.doubtnut.com/l/_ljO6bfsxpSXO
https://dl.doubtnut.com/l/_LZxQF25u1EYp
https://dl.doubtnut.com/l/_dn4d98HKSUbP

B. —cosx°
90

C.—coszx’

90

D. —cosx°®

Answer:

o Watch Video Solution

87.y = f(z* + 2) LHMID £'(3) = 5 eT6vilev,
d

) y )
x=1-60 — 6T60TL
dx 2

A5


https://dl.doubtnut.com/l/_dn4d98HKSUbP
https://dl.doubtnut.com/l/_uITZj6rZoqvV

B. 25

C.15

D.10

Answer:

o Watch Video Solution

2
88. y=—u",u §w3+5 eT6ollev, ——

6T60TLI G |

1 3
A. 2—7:1;2(23:3 + 15)
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